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x0 =

(0, 0) � x1 = (0, 1) � x2 = (1, 0) � x3 = (1, 1) " # �����	 !��
��	 ��$ ���	� ��$
!��

a = (a1, a2)
�
b = (b1, b2) "

%&'&(& ) *+* ,- ./01234 ,4564
a ∗ b = (|a2b1 − a1b2|, |a2b2 − b1|)

%&'&(& ) *7 * 8 1- 69 ,:5 ;<
a ∗ b = (|a1 − 1|b2, |a2b2 − b1|)

%&'&(& ) *) * 8 .-6=069 >.6: ?3@
a ∗ b = (a1b2, |a2b1 − a1b2|)

%&'&(& ) *A * >3-B< 1469 8=- 15
a ∗ b = (a2b1, a1b2)

%&'&(& ) *C * D ?6: 69 E 0.96- 6F
a ∗ b = (|a2b2 − b1|, |a2b2 − a1|)

%&'&(& ) *G * H =:19- .91 ,4105103I
a ∗ b = (|a1 − 1|b1, a1b2)

%&'&(& ) *J * K 1< .4690/3@ L .430
a ∗ b = (|a1b1 − a2|, |a2 − b1|)

%&'&(& ) *M * N . ,4B L O/
a ∗ b = (|a2 − 1|b2, |a1b1 − a2b2|)

%&'&(& ) *P * N =/1434 ,- ./014F:
a ∗ b = (|a2b1 − a1b2|, a1b2)

%&'&(& ) *+Q * R2351:I4 L 193F
a ∗ b = (|a2 − b1|, |a1b1 − b2|)

%&'&(& ) *++* S: 64.T/34 L <35: 3@
a ∗ b = (|a2b2 − b1|, |a2b2 − a1|)

%&'&(& ) *+7 * U.< .469 L < 35: 3@
a ∗ b = (|a2b2 − a1|, |a1 − b2|)

%&'&(& ) *+) * U.: ?..9 K 640514534
a ∗ b = (|a2 − 1|b2, |a2b2 − b1|)

%&'&(& ) *+A * V/1T EIT.0- 19
a ∗ b = (|a1b1 − a2b2|, a1b2)

%&'&(& ) *+C * W1F..91 E .: 643/1
a ∗ b = (|a2b2 − b1|, a1b2)

%&'&(& ) *+G * X.: 4OY .9 D ?6:
a ∗ b = (|a1b1 − b2|, |a2b1 − a1b2|)

%&'&(& ) *+J* X3:1:1 Z 1< 3F
a ∗ b = (|a1b1 − b2|, |a2 − b1|)

%&'&(& ) *+M * [ .Y=/69 K 3: 3--
a ∗ b = (|a1a2 − b1b2|, |a2b1 − a1b2|)



\]^
_`ab`c d
efghijf klhi mnopqrom s

tu
x0 x0 x1 x1

x0 x1 x3 x2

x0 x2 x1 x3

x0 x3 x3 x0

vu
x0 x2 x1 x3

x0 x3 x1 x2

x0 x0 x1 x1

x0 x1 x1 x0

wu
x0 x0 x0 x0

x0 x0 x1 x1

x0 x3 x0 x3

x0 x3 x1 x2

xu
x0 x0 x0 x0

x0 x0 x2 x2

x0 x1 x0 x1

x0 x1 x2 x3

yu
x0 x0 x2 x2

x0 x3 x2 x1

x1 x1 x3 x3

x1 x2 x3 x0

zu
x0 x0 x2 x2

x0 x0 x2 x2

x0 x1 x0 x1

x0 x1 x0 x1

{u
x0 x0 x1 x1

x3 x3 x2 x2

x0 x0 x3 x3

x3 x3 x0 x0

|u
x0 x2 x0 x2

x0 x1 x0 x1

x0 x2 x1 x3

x0 x1 x1 x0

}u
x0 x0 x0 x0

x0 x0 x2 x2

x0 x3 x0 x3

x0 x3 x2 x1

t~u
x0 x1 x2 x3

x2 x3 x0 x1

x0 x1 x3 x2

x2 x3 x1 x0

ttu
x0 x0 x2 x2

x0 x3 x2 x1

x1 x1 x3 x3

x1 x2 x3 x0

tvu
x0 x1 x0 x1

x0 x3 x0 x3

x3 x2 x3 x2

x3 x0 x3 x0

twu
x0 x2 x1 x3

x0 x1 x1 x0

x0 x2 x1 x3

x0 x1 x1 x0

txu
x0 x0 x0 x0

x0 x2 x0 x2

x0 x1 x2 x3

x0 x3 x2 x1

tyu
x0 x0 x2 x2

x0 x2 x2 x0

x0 x1 x2 x3

x0 x3 x2 x1

tzu
x0 x2 x0 x2

x0 x2 x1 x3

x0 x3 x2 x1

x0 x3 x3 x0

t{u
x0 x2 x1 x3

x1 x3 x0 x2

x0 x2 x3 x1

x1 x3 x2 x0

t|u
x0 x0 x0 x2

x0 x0 x1 x3

x0 x1 x0 x3

x2 x3 x3 x0��� ���� ������


